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2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
AT 13,177,909 12,994,914 182,995
Al 401,612 327,250 74,362
o 12,776,297 12,667,664 108,633
yane 8,236,682 8,080,658 156,024
Al 401,612 327,250 74,362
= 7,835,070 7,753,408 81,662
e MY X4 5,938,817 5,879,190 59,627
Al 110,512 59, 150 51,362
- 5,828,305 5,820,040 8,265
SAHZRA e 64,837 63,412 1,425
303 Z&t 3 6,635 5,210 1,425
01 Z&3 6,635 5,210 1,425
O Mgl HERBYSZ(ANE ZDH) 1,425 0 1,425
SAHZEO0 HIISII2 NS (BEAY) 95,608 84,500 11,108
Al 69,418 59, 150 10,268
- 26, 190 25,350 840
401 A& HIL SO 87,300 84,500 2,800
Al 61,110 59, 150 1,960
- 26, 190 25,350 840
01 Al 87,300 84,500 2,800
O GBS M)l 22+

400,000 * 724 2,800 0 2,800
Al 1,960 0 1,960
= 840 0 840
405 TH&HH St 8,308 0 8,308
Al 8,308 0 8,308
01 AU 2B St 8,308 0 8,308

O HIIR(SH) BotE FESA 2
7,700,000 * 1CH 7,700 0 7,700
Al 7,700 0 7,700
O TR gALA T 304,000 * 20H 608 0 608
Al 608 0 608
NALHY S WE QMES(BEAY) 26,000 0 26,000
Al 20,000 0 20,000
= 6,000 0 6,000
303 Z& 3 4,000 0 4,000
Al 4,000 0 4,000
NEEE 4,000 0 4,000

O HAUS AZUS 2 HAX A&t
200,000 * 20% 4,000 0 4,000
Al 4,000 0 4,000
405 THAHF S B 22,000 0 22,000
Al 16,000 0 16,000
= 6,000 0 6,000
01 RMYLSEHSH 22,000 0 22,000
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SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
SEFEEEEND 500,000 * 1CH 500 0 500
Al 500 0 500
OIELIT-FS] 500,000 * 3CH 1,500 0 1,500
Al 1,500 0 1,500
OJNZHA+IE HBAXY HHPY
20,000,000 * 1cH 20,000 0 20,000
Al 14,000 0 14,000
2 6,000 0 6,000
BoRl a2y SEHAUYY (BXALY) 21,094 0 21,094
Al 21,094 0 21,094
101 Q1248 10,064 0 10,064
Al 10,064 0 10,064
04 JAHIRASES S 10,064 0 10,064
O H+2Z 4+¥TY FZ P2 22N 22(F
A ER L) 60,230 * 6% * 242 8,674 0 8,674
Al 8,674 0 8,674
O H+2% 4T 3222 22K 282 1,090 0 1,090
— =003 8,673,120 * 4.5% 391 0 391
Al 391 0 391
- 1829 8,673,120 * 1.5% 131 0 131
Al 131 0 131
— AT 8,673,120 * 3.4% 295 0 295
Al 295 0 295
— Ay 8,673,120 * 2.945% 256 0 256
Al 256 0 256
—®Ieusy 255,423 * 6.55% 17 0 17
Al 17 0 17
O 22X m= 50,000 * 6% 300 0 300
Al 300 0 300
201 ot | 4,000 0 4,000
Al 4,000 0 4,000
01 AR 22t 4,000 0 4,000
O 42 228 2|
5,000 * 50% * 83l 2,000 0 2,000
Al 2,000 0 2,000
O H+2Z 228 24 1,000 0 1,000
Al 1,000 0 1,000
O 22+ E22(H42 4T S) 1,000 0 1,000
Al 1,000 0 1,000
206 T 2 bl 6,310 0 6,310
Al 6,310 0 6,310
01 T2 bl 6,310 0 6,310
O H+2Z 22 HABE 20 6,310 0 6,310
Al 6,310 0 6,310
401 AIEHIL 2 THHI 720 0 720
Al 720 0 720
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SN 3H - HA(FAH) - NRAIS - BES Ol &F o4 I E M Hwsz
01 Al H 720 0 720
O 2el4) MJIs €X 360,000 * 204 720 0 720
Al 720 0 720
MEHIISO NAHWEE =7 1,620,371 1,603,511 16,860
Al 127,600 124,600 3,000
2 1,492,771 1,478,911 13,860
WEEBEMANL 29 291,162 264,082 27,080
201 YEtS | 43,972 42,892 1,080
02 222l 41,244 40, 164 1,080
O1. B223 2 HAl 41,244 40,164 1,080
—SBAVAHY B2 18,880 18,340 540
TV sleE 90,000 * 6% 540 0 540
- +gZ2dH 3323 22,364 21,824 540
TV aleE 90,000 * 62 540 0 540
401 Al HIL 2T 72,000 46,000 26,000
01 Al Hl 72,000 46,000 26,000
O sATBHE AL 33,500 25,500 8,000
— CCTV &x 8,000 0 8,000
SEE 1 5,000,000 * 1CH 5,000 0 5,000
- DHE 20 1,500,000 * 2CH 3,000 0 3,000
O +Y3ME AL 38,500 20,500 18,000
— CCTV A X 8,000 0 8,000
e 10 5,000,000 * 1CH 5,000 0 5,000
DIE 20 1,500,000 * 2CH 3,000 0 3,000
- REES Mo ni 10,000,000 * 14! 10,000 0 10,000
SASRHIIE NHEE =W 1,065,909 1,079,129 A13,220
201 2Bt | 24,909 38,129 £13,220
01 At 2+ 2l 24,909 38,129 £13,220
O 1. Ler+gHl 24,909 38,129 A 13,220
—SAZ28 HIIE YRES (S, 3S5Y) 18,349 31,569 £13,220
-3¢ 2F 24 « 100,0000H 2,400 9,600 AT7,200
- 54 2 24 * 600,0000H 14,400 19,200 £ 4,800
204 2F 28 + 40,00004 1,120 1,680 A 560
1204 2 33 « 10,00004 330 990 1660
HIIS22 2 NAHSSEDAL(REAY) 3,000 0 3,000
Al 3,000 0 3,000
201 Yur2 Y| 400 0 400
Al 400 0 400
01 At 22l 400 0 400
O HRUHEAR 222 M 400 0 400
— A 800 * 500% 400 0 400
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N-Z33.22(3H) - H2AY - BES Ol &F o4 I E M Z
A 400 0 400
206 T 2t 1,820 0 1,820
Al 1,820 0 1,820
EET 1,820 0 1,820
O HEES 4 2,500 * 7287H 1,820 0 1,820
Al 1,820 0 1,820
301 LptR &3 600 0 600
Al 600 0 600
1oz 600 0 600
O HAMNDE 2 A A 250 * 2,4000H 600 0 600
Al 600 0 600
303 Tar2 180 0 180
Al 180 0 180
01 ZA2 180 0 180
O Ro=lax 30,000 * 6% 180 0 180
Al 180 0 180
28 ZE ONYSEA P E 2L 677,494 597,957 79,537
Al 163,500 143,500 20,000
= 513,994 454,457 59,537
ZEIZA L st HA LB 385,494 325,957 59,537
401 Al HI L 2 THHI 59,537 0 59,537
01 A&l 59,537 0 59,537
O Bo2H+SH LTAL LA &3 59,537 0 59,537
SIHE MHAB A A (REAY) 20,000 0 20,000
Al 20,000 0 20,000
401 Al HI L 2 THYI 20,000 0 20,000
Al 20,000 0 20,000
01 Al& 20,000 0 20,000

O HAAHE 3 SHA SEA A

XIHI (400 &) 11,000 0 11,000
Al 11,000 0 11,000
O HAAHE 3 9,000 0 9,000
Al 9,000 0 9,000
HHSAAH (HAHED) 4,922,718 4,914,256 8,462
A (H AT D) 86,883 78,421 8,462
SZH(FAID) 86,883 78,421 8,462
405 XtorF S| 8,462 0 8,462
01 KAt S ZH S| 8,462 0 8,462
O =4t 155,000 * 22X 3,410 0 3,410
O 2xma 136,000 * 2% 272 0 272
O 3tME 150,000 * 26% 3,900 0 3,900
O sage 40,000 * 22% 880 0 880
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